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JE{Z K4 FEHIFZI—X ouT IN GROSS
1 B 2R il 36 35 71
2 & 5= WFEEEH 36 36 72
3T ESEN L’ﬁ.?f\ WFFHEMR LR 37 36 73
3T EIZ = Hnl% 36 37 73
3T EE His FEDFHF 39 34 73
6T HH ED ENF 37 37 74
6T NITE¥S WFH AR 38 36 74
6T £H Rt WFZEM AR 38 36 74
9T FEE I E WFEHM AR 40 35 75
9T HE E— FEDFH 37 38 75
oT tH FE = AN 38 37 75
9T bl KiE FEEAY-N 36 39 75
oT KE EHE hEE AR -} 37 38 75
9T B EHE NN 39 36 75
15T Ke @ FEDFHE 40 36 76
15T KIE #GEh WFETHEE 37 39 76
15T EE B WF& B 35 41 76
15T BiJIl BERER WFETHEE 38 38 76
15T FEE TTE WFETHEE 38 38 76
15T EAXR Kig FEEAY-F 38 38 76
15T SR KA WFFHEMR R 40 36 76
15T B & Ty 39 37 76
15T Ai8 HEZ/T = AN 36 40 76
15T BA & ERLTF 40 36 76
15T A WFETHEE 38 38 76
15T = %Rkﬂrs E N 39 37 76
15T SR NG 40 36 76
28T AR I WFEEEE 40 37 77
28T BER ® WFEHMKAE 41 36 77
28T AR Fh WFH KA E 38 39 77
28T BalER M3k hE AR 38 39 77
28T fnfkE & RER C =1 dIN 38 39 77
28T ® _EE = AN 40 37 77
28T BEA EBA ERLTF 41 36 77
28T D pE=E WF& B 39 38 77
36T LEFE R ERLTF 39 39 78
36T LI BERE NS 38 40 78
36T B EA WFFHEMKR AR 38 40 78
36T ES i C =1 dIN 40 38 78
36T M H fEAER WFHMH AR 40 38 78
36T ik WFHMA AR 40 38 78
36T NITIEEYS WFH M E 40 38 78
36T INEF fnfE FEDHE 38 40 78
36T ag = WFETHEE 39 39 78
36T Bl —8 WFETHEE 41 37 78
36T A E N 40 38 78
36T O4AE HBE WFEEEE 39 39 78
36T Nt 1K = AN 41 37 78
49T D #H—ER WFEEEH 40 39 79
49T £E B = AN 40 39 79
49T FJR IR C =1 dIN 38 41 79
49T T ASE WFEEEE 41 38 79
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49T IIER ZHES WFEEEE 39 40 79
49T B f0th NS 42 37 79
49T ok K& = AN 39 40 79
49T B/H B/ =1 dIN 40 39 79
49T = Ei& = AN 43 36 79
49T SEr B WFETHEE 40 39 79
49T H Bt WFETHEE 38 41 79
60T X0 EF WFETHEE 42 38 80
60T ME BT NG 39 41 80
60T X B+ WFEEEE 41 39 80
60T ftE =R FEDFH 40 40 80
60T SR U VN 42 38 80
60T ¥ BA WFETHEE 43 37 80
60T Bl X WFETHEE 43 37 80
60T INE B WFETHEE 41 39 80
60T gELl WFHMA AR 40 40 80
60T iR Hes WFHMHAE 40 40 30
60T T & = AN 40 40 80
71T MR BRE EnlE 41 40 81
71T E¥ &% Ty 42 39 81
71T ®iE H— Hq % 41 40 81
71T E¥ &% C=1=IN 41 40 81
71T =L = AN 44 37 81
1T CEES WEHZMH L E 44 37 81
71T H/E Z75 = AN 43 38 81
71T BH &= = AN 40 41 81
71T XE —R WFEEEE 40 41 81
71T WS FEDFH 41 40 81
1T ¥EO sl WFEEEE 43 38 81
82T [DFIE RPN C =1 dIN 45 37 82
82T CEEE5A WEZH A E 42 20 82
82T BR ZH WFH M E 45 37 82
82T FE EH = AN 39 43 82
82T &k B8 = AN 41 41 82
82T BziE WFETHEE 41 41 82
82T JIIA _ZE# WFETHEE 42 40 82
82T tiE EA NG 44 38 82
82T F A& RiE il 43 39 82
82T Ex Hnl% 45 37 82
82T A EX WFFHEMKR AR 41 41 82
82T AH EiE WFEEEHE 40 42 82
94T % SER WFHZMHAE 40 43 83
94T Xt {EFA WFETHEE 43 40 83
94T X SN WFETHEE 41 42 83
94T Ei5 %8 C =1 dIN 43 40 83
94T EIET WEZMH L E 40 43 83
94T J\XR _{EAXER =1 dIN 44 39 83
94T EAX —E WFEEEE 41 42 83
94T HEF X NN 46 37 83
102T WWH S5 = AN 42 42 84
102T il _IhaE WFEEEE 44 40 84
102T HilEH @% NN 43 41 84
1027 ) WFR G EE 42 42 84
102T BEE #=E WF & & B 44 40 84
102T EBRB B WEZH A E 47 37 84
102T EH sk WEE & =& 43 41 84
102T MatE ] WFEHEE 43 41 84
102T B ZE WFEHEE 43 41 84
102T R B T 46 38 84
102T A Bak IV 44 40 84
102T X2 58 WFEEEE 45 39 84
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102T IR WFEEEE 47 37 84
102T NEEPN 3 FEDFH 48 36 84
102T "nEg B = AN 39 45 84
1177 Ee BT = AN 43 42 85
1177 EA _Kig = AN 39 46 85
1177 EE-PN WFFHEMR L E 42 43 85
1177 FX X = AN 42 43 85
1177 ik BRI WFETHEE 42 43 85
117T BB WFETHEE 42 43 85
1177 Al = AN 40 45 85
1177 TNEE WFEEEE 42 43 85
17T ] EH WFZHZ AR 40 45 85
1177 Car=1.5 WEHZMH L E 43 42 85
17T hif X&E WFEEEE 45 40 85
1177 BE= Iﬁll N 42 43 85
117T Hbh BE TV 40 45 85
1177 BiR {E—88 VN 44 41 85
131T gA KE WFETHEE 42 44 86
131T =28 _E#% WF& B 45 41 86
131T B/BAR BFX WFEEEE 41 45 86
131T AL = AN 43 43 86
131T EH B WFEEEHE 44 42 86
131T 1R _fE—EBR /R 43 43 86
131T it BRSNS WFETHEE 45 41 86
131T LR I’iiﬁi‘ WFETHEE 46 40 86
131T AR iR il 42 44 86
131T fHE E TV 43 43 86
141T 2./l T WFEEEE 45 42 87
141T £ BEZ NS 42 45 87
141T Ml ESR INEZ 43 44 87
141T =5 ER WF;’?@F'\@ 48 39 87
1417 EY REE WFEEEH 42 45 87
146T R =S = AN 44 44 88
146T L ® WFEEEE 45 43 88
146T AR ZE 7Y 49 39 88
146T HFEE &i8 WF& B 47 41 88
146T HE K& WFETHEE 50 38 88
151T ZR _HE VN 45 44 89
151T LFH Xih %EE#% 49 40 89
151T REE == WFEEEH 44 45 89
154T TH FA WFETHEE 45 45 90
154T Nt HEZ Ty 45 45 90
154T ¥l FEHt WFEEEH 45 45 90
154T EE &2 FEDFH 46 44 90
158T fif] 1$1==¢ WFEEEE 42 49 91
158T ;H IF Hnl% 46 45 91
158T e B& = AN 48 43 91
158T B EW Hnl% 46 45 91
158T hE & WFEEEE 48 43 91
163T WH B WFHMHAE 49 44 93
163T e #1E WFETHEE 51 42 93
165T AES WFETHEE 48 46 94
165T AR &K WFEFHZM A E 47 47 94
165T FE_ FiE TV 49 45 94
168T [RE R WFETHEE 45 50 95
168T BERX BZ WFETHEE 45 50 95
168T Bk #— NS 44 51 95
171 BA _E7F E N 47 49 96
172 RE H1T WFETHEE 48 50 98
173 & 1hEE WFETHEE 55 44 99
ZiE A = ER WFFHEMKR AR - - -
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Ri5 WA LiE WFEHEE - - -
Ri5 A KBS WF M2 E - - -
Ri5 BE X WFE T EE - - -
Ri5 FSTIERES InkE - - -
Ri5 He EF WFE T EE - - -
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